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All dimensions are nominal. Dimensions in [ ] are in milimeters.

Service Conditions

Medium Through Valve: Required Cy:
Temperature Maximum: Minimum: Normal:
Flow Maximum: Minimum: Normal:
Inlet Pressure Maximum: Minimum: Normal:
Outlet Pressure  Maximum: Minimum: Normal:
Differential Pressure Service: Close-off:

Pipeline

Upstream Material: Size: Schedule:
Downstream Material: Size: Schedule:

Valve Requirements

Required Fail Position:

Body Material: Size: End Connections:
Trim Check one ] Modified Linear | Equal Percentage
Material: Close-off Class:

Additional Requirements:

Actuator Requirements

Check one | Pneumatic On/Off | Pneumatic Throttling "] Electric
Power Supply: Input Signal:

Additional Requirements:

Positioner Requirements

Check one | Pneumatic | Electropneumatic

Input: Output:

Additional Requirements:

Name: Company:
Date: P.O. Number:
Project Name: Tag Number:
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VALVE SELECTION

The proper sizing of a valve is one of the most important factors in the ability of a loop to maintain control. A valve that is
too small is not able to provide the desired capacity during peak load conditions, while a valve that is too large will tend to
overshoot the control point and operate with the valve plug too close to the seat, resulting in undue wear of the plug and seat.

Valve Coefficient (C,)

The valve coefficient (Cy) is mathematically determined through an evaluation of the system service conditions. This factor can
be used to select a valve body of the appropriate port size. In almost all cases, the valve should be of a smaller size than the

pipeline into which it will be installed. To avoid undue wear, a valve body of the smallest possible port size should be selected;
however, the valve should never be less than half the pipeline size, as this will cause extreme mechanical stress to the pipeline.

Service Conditions

The specifier should be knowledgeable of the service conditions of the application in order to properly determine the
actuator and valve requirements.

Medium
The composition of the fluid passing through the valve.

Temperature (T)
The temperature of the medium passing through the valve. This measurement is required to properly specify the materials
used to manufacture the valve.

Flow (g or W)
The volume of fluid passed through the valve as required by the particular application. Flow is usually expressed as either

gallons per minute (q), or pounds per hour (W). Water and other liquids are usually measured in gallons per minute, while
steam and other gases are usually measured in pounds per hour. This measurement is required to correctly determine the

valve coefficient (Cy).

Inlet Pressure (Upstream Pressure or P1)
The pressure (psia) of the medium flowing into the valve body. This measurement is required to correctly determine the valve
coefficient (Cy) and valve close-off capability.

Outlet Pressure (Downstream Pressure or P2)

The pressure (psia) of the medium flowing through a fully opened valve to the process. The outlet pressure from the valve is
determined by the process or equipment that is being fed by the valve, and is not caused by the valve itself. This measurement

is required to correctly determine the valve coefficient (Cy) and valve close-off capability.

Differential Pressure (Pressure Drop or AP)
The difference between the inlet and outlet pressures (P4-P2). This measurement is required to correctly determine the valve
coefficient (Cy) and valve close-off capability.

Valve Sizing Differential Pressure:
The differential pressure (psid) for valve sizing is determined with the valve full open. This pressure drop, along with
the required flow rate, is used to determine the required C,, to aid in the selection of the proper control valve.

Close-Off Differential Pressure:

The differential pressure (psid) for valve “close-off” is determined with the valve fully closed. Usually, in most common
applications, with the valve closed the outlet pressure will be zero (0) psig and as such the pressure drop will be equal
to the Inlet Pressure. In some applications there may be residual back pressure in the downstream system (such as
filling a pressurized tank) that will cause the Outlet Pressure to be a value greater than zero, which in turn reduces the
value of the expected differential pressure.

Example:

Valve B73 (on page 190) has a maximum “Close-Off Pressure” allowance of 65 psid. If this valve
is used to control the flow into an open tank, the closed valve outlet pressure will be zero. As
such the maximum inlet pressure that the actuator can close this valve against is 65 psig.

(65 psid rating + zero outlet pressure = 65 psig inlet pressure).

If however this same valve B73 is used to control the flow into a closed pressurized tank (pressurized
to 25 psig) then the maximum inlet pressure that the actuator can close this valve against is 90 psig.
(65 psid rating + 25 psig back pressure = 90 psig inlet pressure).

Since this 90 psig is less than the body rating of 125 psig this valve would be acceptable for this service.
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VALVE SELECTION

¢ Specific Gravity — The ratio between the weight of the flow medium at the flow temperature and that
of a defined standard substance (water or air). The specific gravity may be required to correctly determine

the valve coefficient (Cy).

Liquids (Gf) water = 1.0 @ 39°F (4°C)
Gases (Gg) air = 1.0 @ 60°F (18°C) and 14.7 psia

Other Considerations

¢ Viscosity — The degree of thickness of a liquid. Extremely thick process media can create high friction as
it passes through the valve. In most instances a sizing correction factor is not required. Please consult the
factory when the flow medium is of a viscosity of 40 centistokes or greater.

e Steam Superheat — The number of degrees Fahrenheit (Tgh) above the saturation temperature of steam
at a given pressure. Superheated steam is created when saturated steam is further heated from another
source after leaving the water from which it is formed. This measurement is required to correctly determine

the valve coefficient (Cy).

Valve Sizing Equations

-
m
0O
-
P
O
>
r
<
Bl
o
X
=
>
=
o
P

Cavitation

The following formulas can be used to determine the Cy
Water and Other Liquids

requirement for a specific set of service conditions,

Cavitation takes place when the pressure

where: through a valve drops to or below the vapor
Cy = valve coefficient pre.ssure of a I|c.|md, causing it to vaporize and
L . . rapidly expand in gas form. Vapor bubbles flow
Gf = liquid specific gravity at flow temperature downstream where the fluid velocity decreases

(water = 1.0) and the surrounding pressure increases.

Gg = gas specific gravity (air = 1.0) The vapor bubbles then collapse or implode,
causing sudden condensation and producing

P" = inlet pressure (pSIa? shock waves that may result in excessive noise,
P2 = outlet pressure (pSIa) vibration, erosion or mechanical damage to
AP = inlet pressure minus outlet pressure (pSi) valve and/or piping. In most liquid applications,
—  liquid flow in qallons per minute ( m) the outlet pressure (psia) should be no less
q - q 9 P gp than one-third the inlet pressure (psia). Where
Tsh = steam superheat (°F) extremely large differential pressures are
W = gas flow in pounds per hour (pph) required, the use of multiple valves in series
will reduce the possibility of cavitation.
Water
where:
q = liquid flow in gallons per minute (gpm)
AP = inlet pressure minus outlet pressure (psi)

Cv=v

example:

q

medium = water

q = 160 U.S. gallons per minute
AP = 25[100 psia inlet — 75 psia outlet]
160 160
Cv = .‘/E or CV = 5 or CV = 32
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VALVE SELECTION

Saturated Steam

800-876-0036  847-356-0566

pa
(@) where:
|: W = gas flow in pounds per
< hour (pph)
= P41 = inlet pressure (psia)
o P> = outlet pressure (psia)
O AP = inlet pressure minus outlet
p
LZL pressure (psi)
| W
g Cv=», VAP(P, + P,)
E example:
2:) medium = saturated steam
w W = 4000 pph
- P1 = 100 psia
P> = 75 psia
AP = 25100 psia inlet — 75 psia outlet]
4000
Cv =, 1vas(100 + 75)
c 4000
V'™ 1389
CV = 288

Choked Flow (Critical Drop)

Steam and Other Gases

When P is less than 1/2 P4, set P2 equal to 1/2 P4 in the
appropriate sizing equation for steam or gases.

Steam, as are all gases, is a compressible fluid. The
maximum velocity of the steam or gas through the valve
is limited to the speed of sound. When the outlet pressure
(psia) is equal to one-half (or less) of the inlet pressure
(psia), the fluid velocity through the valve reaches the
speed of sound, and flow cannot be further increased by
a reduced outlet pressure. This is known as a choked
flow condition. The pressure drop under these conditions
is known as critical drop.

example:

medium = saturated steam
W = 4000 pph

P1 =100 psia

P> = 35 psia (actual)

AP = 65 psia

Since the outlet pressure is less than 1/2 of the inlet
pressure, choked flow will occur. Set P> to equal 1/2 of P1.
Use this revised P2 in the normal sizing formulae.

P2=Pq/2 P2=100/ 2 P> = 50
AP=P1-P2 AP=Pq1-P4/2 AP=100 - 50 AP = 50

_w
Cv=y, VAP, + P,)
4000
= 2.1Y50(100 + 50)
4000

V= 1819

CV=22

Cv
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Steam is perfectly transparent, colorless, dry and invisible. When it comes
in contact with air, it partially condenses and forms a visible mist, or wet
steam. Wet steam has the same temperature as dry steam contained

under the same pressure.

Steam in its most common state is known as saturated steam. Its
temperature is the same as that of the water from which it is formed and
is dependent on the pressure under which it is contained. Superheated
steam is created when saturated steam is further heated from another

source after leaving the water from which it is formed.

Saturated Steam Pressure and Temperature

STEAM PROPERTIES
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Adjusted to Sea Level — 14.696 psia (760 mm Hg)
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STEAM PROPERTIES

TECHNICAL INFORMATION

One cubic foot of water will become 1646 cubic feet of steam when
evaporated at zero psi gauge pressure and a temperature of 212°F.

One cubic foot of steam weighs 0.03732 pounds, and one pound of
steam occupies 26.796 cubic feet at zero psi gauge pressure and a
temperature of 212°F.

One cubic foot of dry air weighs 0.08073 pounds, and one pound of dry
air occupies 12.387 cubic feet at zero psi gauge pressure and a temper-
ature of O°F.

The latent heat created from the vaporization of water to steam is:

970 BTU per pound @ 14.7 psia 1Gal. (U.S.) = 0.1337 1
889 BTU per pound @ 100 psia 1 Gal. (U.S.) water = 8.337 Ibs
One British Thermal Unit (BTU) is the amount of heat required to raise 1 ft3 water = 62.364 Ibs

the temperature of one pound of water by one degree Fahrenheit,
usually from 39.2°F to 40.2°F.

Steam Required to Heat Water
According to Temperature Rise and Gallons per Hour

U.S. Gallons of Water Heated per Hour (for fuel oil — multiply pounds per hour listed by 0.5)

25 50 75 100 150 200 300 400 500 750 1000 1500 2000 3000 4000 5000 7500 10000

Temperature

Rise (°F) Pounds of Steam per Hour Required

10 — — — - — 17 25 33 42 63 83 120 167 250 330 420 620 830
20 — — — — 25 33 50 67 83 125 167 250 330 500 670 830 1250 1670
30 — — — 25 37 50 75 100 125 190 250 370 500 750 1000 1250 1900 2500
40 — — 25 33 50 66 100 130 170 250 330 500 660 1000 1330 1700 2500 3300
50 — 21 31 42 63 84 125 170 210 310 420 630 840 1250 1680 2100 3100 4200
60 12 25 37 50 75 100 150 200 250 370 500 750 1000 1500 2000 2500 3700 5000
80 16 68 50 67 100 130 200 270 330 500 670 1000 1340 2000 2700 3300 5000 6700
100 21 42 63 83 120 170 250 330 420 630 830 1250 1700 2500 3300 4200 6300 8300
120 25 50 75 100 150 200 300 400 500 750 1000 1500 2000 3000 4000 5000 7500 10000
140 29 58 88 117 175 230 350 470 580 880 1170 1750 2340 3500 4700 5800 8800 11700
160 33 66 100 133 200 270 400 530 660 1000 1330 2000 2700 4000 5300 6600 10000 13300
180 37 75 113 150 225 300 450 600 750 1125 1500 2200 3050 4500 5950 7500 11300 14950
200 42 84 126 165 250 330 500 660 840 1260 1660 2500 3400 5000 6600 8300 12600 16600

7 S TRERICE



, In

Technical Informa

Ice

: M&M Control Servi

Distributed By

TECHNICAL INFORMATION

Ho0 PUB D60 Ho2E 1B S9z801) Joje

4,08 pue 0,001 Ho.cLZ e s[ioq 41/
:|oAg] Bas 1y

WeJ uo suol = 000z / (ISd X ¥$82°0 X Zeld)

BdY G/¥'689 = /S/¥689 X 1sd 00L :djdwex3y
SHUNn OL = "AIdILININ X SHUN INOH4 :ejnwuoj Buimoljo) ay3 Ojul UOI108sIa1ul 8Ul 1B UMOYS Jaldijnw 8y} uasu| ¢

‘moJ doy 8yl Ul O WSAUOD O} YSIm NOA sHuNn syl puld g

(080X Do) = Ho (G2 X Ho) = Do 2€ +(G22 X Ho) = o ISd = (z®IP X ¥682°0) / (0002 X WeJ uo suoy)

YyPy 0 X (2€ - 4o) = Ho GGGG'0 X (€ = do) = Do 2+ (81 XDo) =0 ‘ISd O} We.J Ja1swelp UsAlb e uo

Jnwineay sealbe = Y, snis|@) sealbeg = 9D, }l|yualiye seaibaq = 4, SUO} USAUOD O} MO[aq Se|NWIO) 8y} 89S

UOISIdAUO0D dinjesadwa] UOISJI9AUO0D wiey dljhelpAH
(060452 18 BH 40 SHUN [[8 ‘(Deb)402 65 18 O°H 40 SHUN |1
b £6926€0L | S668°€E €101°0 |GeSee L0k | LEzeen’t £126'62 oL 09/ | SESZELOL €101 | 9€1'GEZ |£€9Z°€E0L | €EE0L |  ¥BL90Y 96971 wje
1829600 b 66£8082°€ |6€7£908600°0 |6E7€908'6 | L66660°0 185682 | L6G5E°L | TLESGEL | ¥6YI9086°0 |¥6Y99°086 | 995LCC 00L 0001 | 6200.€%6E| 6222yl | (CH W
968676200 8r0€°0 b 1868862000 | 1868867 | 2L6/v0S00 |  9v9288°0 | 26Lvg T | 26Lvee | 18688620°0 | 18688°6C | 29869 8y'0¢ | 0840 gh| sisesvo| QOH M
698'6 [€708V.6°L0L | 81295VES b 0004 zoL €562 052 0062 ok| 0000k lgee | 1610k | S/6°L0) 6107 vosyl| Bdil
GE2698600°0 | GP.6LOL0 | 8LISKEED 1000 b 916101070 | 26625620 G0 | 0190052 100 0} | €0902€T | GP/6L0L | L6'10L| 2hiPLOW| LLEOSPLO ed)
865178/96'0 | 820000l | 2L£6082E 1860°0 | ¥6v990'86 b 10656'82 | 9G°€L | 889G'SEL | ¥6Y99086'0 L'086 | 6vELG'L22 | 820°000) | €°000°0L [908112°€6E | £vEETT YL | ga/BY
LIZPee00 | €S2ESKED | L962EL'L 6E€00°0 | 68£98E'C | 9LESKED'D b 52 ¥'52 | 68698€€0°0 98'€E | L¥8S8L | €S2ESVE |  £'SPE | ¥8YSESEL| 2vSLier0|  SH Ul
91E10'0 | 60SS6SEL0 | S2Ir09PY0 €€100°0 gee’l 9e10°0 6€°0 ! ok £EE10°0 el ore 09el | 09€l 85€'G ve610| SH wo
G68/GL€L00°0 | ¥SS6SELO0 | 9709FF0'0 £€1000°0 |G22e€eH0 | LG6SEL00'0 |62002£680°0 10 b 622eeeL00°0 €EC’L |888€608°0 | ¥SS6SEL | 09°€L | §S2SeS0| 898e610°0 | SH ww
€26986'0 | 997/6L°0L |  eesrEe 10 00L | 9L6LOL €562 G/ | 929006, b 000} | 8090'2€2 |99vL'6LOL | L6L'OL| 9658107 |  8E0GYL Jeq
860000 | S6L0L000 | 2295VEEO0 10000 10 201000 66200 | S0 SL0 100°0 I 12€2°0 020l | 0z0L 2Lor0 Sy10'0|  Jequ
6/8252v00°0 | 80EV6EVOD | LL¥YLO £/000°0 |£2260€Y°0 | 80EV6EVO'D | G2LG2LZL0 | €280 | 8L2ET'E | €2260£400°0 ey b 80EV6EY | EVEEY | 00EL) 62900 | gu/zo
182960000 00| 808200 10000 | ¥£9086°0 | 66660000 | 185682070 | SEL0°0 |2LESSEL0 | ¥£9086000°0 86°0 | 995/220 b ok 186€°0| 6222r10°0 | QOH W
1600000 100°0 | #8082£00°0 100000 | 86000 1000°0 68200°0 | 6620000 |  S€00|  860000°0 8600 | 22200 Ko b ¥6€0°0|  22v100°0 |QCH W
28572000 ¥5200 |  ££€80°0 2000°0 |61806v2°0 | 612vG200°0 | 6£SGEL0°0 | 2810 |6ESSEL0°0 6v200°0 8872 | 0208.50 52 v'se L 829219500 | (QCH i
09708900 | /268080.°0 | €2/90€C 6900°0 | S.¥68'9 |856908020°0 20960 (98 LLL'S | 98VLLTLG | 2G/¥6890°0 689 9l |,2680€°0L |  1'€0L| 89089'/2 ! 1sd
044

wje 0cH w 0cH Y BdIN edy cwa/gy SHw | SHwo | SH ww Jeq Jequi | gul/zo | QcH w9 |QZH ww 0cH W ISd oL

"UWINjO2 puey 18| 8Y1 Ul INOYHH MSAUOD O} YSIM NOA sHun ayy puld "

a|qeL ayy Buisn

By TRERICE






